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And its manner is to go and damage — POIRY 9% 10T

OVERVIEW
The Xn>92 mentions that the X7 of MW over M2 is that a MW is P11 T2°% 1077,
Our moon will discuss why the X072 does not mention other apparent MM of
MW over M2.

mooIn responds to the following anticipated question:
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The reason the ¥n»12 did not mention among the M 17 of MW; that it is a living
being, which is not the case by =13, is because being a °n v2 is included in the

X211 of P‘Tﬁ’?ﬂ '['7"7 129%. The &n»72 did not mention another X117 of MW over 712; namely
that W is a °n %¥2 and a M2 is not, because the X1 of being a °n Yva expresses itself in the fact
that it can move and damage, as opposed to 712 which damages only in its place.

mooIn anticipates an additional difficulty and resolves it:
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And the X1 of o575 111 which 7w has,” that is not applicable to mention as

a X1 of 1w compared to M3, since 712 is not a v Y¥3. It is not appropriate to claim
that 7 is more AN than 712, since MW is P12 NN, for since M2 is not a °n Hv2a the idea of
172 1NIM3 is inapplicable.

SUMMARY
The nmmin of P12 1977 (and 1779 1NI1D) are synonymous with the X317 that W is
a °n Hya.

THINKING IT OVER
mMooIn claims that °n 5¥1 is included in o172 79°9 1977.% Seemingly WX is 7277 1977
1791 and it is not a °11 Y¥2. How can nooin claim that they are synonymous?!’

" See “Thinking it over’.

% Mmoo has just previously mentioned (v 7"7) that W here is referring to 177 which is 1% 1nm>.

? See 0"n who explains as follows; once we mentioned P1121 77°2 1377 which (as moOIN just taught) is the
equivalent of saying that the X1 of 7 is that it is a °n %2 (as opposed to M2 which is not a °n %¥2 and not 1377
PTA?Y 72°%), it is inappropriate to mention (again) that the X1 of 2w over M1 it that M is 2°172 N3 (and 712 s
not), for once we have already established that 112 is not a °n Hv2 it is obvious (and included) that a M2 is M3 PR
P17, [Alternately: The X7 of p>1a% wnad is that it is more prone to damage since 19pn 17%°. This applies when
contrasted with 7" (who are more placid). However 712 which is always prone to damage is no less 7111 than the
?°11% 1naM3 of 1. See 10 NIX 7"210.]

* See footnote # 1.

> See 11 MR >"0a.
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